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Jim Stiles The Univ. of Kansas Dept. of EECS 

Special Problem 2.6-3 
 
Consider this circuit, where the transmission line is lossless: 
 
 
 
 
 
 
 
 
 
 
 
 
1)  If 49LZ = Ω , determine the value of the characeteristic 
impedance Z0 that will maximize the power absorbed by load LZ . 
 
Determine also the value of this absorbed power. 
 
 
2)  If 0 50Z = Ω , determine the value of load impedance LZ  that will 
maximize the power absorbed by load LZ . 
 
Determine also the value of the power incident on this load. 
 
 
Hint: This is not a boundary value problem.  You do not need to 
determine constants 0 0 or V V+ − ! 
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